RUCUESUNFE3NIL | 22w
Jwjwunnwbh 3wbpwwbnnipjwb nengynn hnnbph welwjnipjwl b pw2fudwh
(puin Guwnwlwiht Gowlwynipjwl, hnnwwnbuptiph bt ubithwlwGnipjwh unipjlunGtiph )
Uwnpg’ Upwpuwin 3 ’
(wGywnLip) (4nn)
Jwiwybp r Uwuhu punwp I 130
(wGywbntap) (Ynn)
Ubthwlwbnigjw untp)tyn
‘f_'—,‘?: COnwukbp = = L HG < : 3o =
_ 3@ Z | nnnaynn 2 ER-| = 3 EE B
e Qnpéwnlulywb = S g 3 3 3 Sa el
o gg GowwynipyniG, hnnwntiu o Wi TeE | £ BS &g E} Eas2s
: 33 2 RIRLY, AN Rl £ | (2+3+4+5+ g 33 Ey 5 c253%
33 6) = 3 s (=) Ee) 35 o'y
23 = £ 3 3 E 55 .39
2 e A = (@) -
u S q 1 2 3 4 5 6
il Juptiwhnn 577,68 493,833 83,847
pwoiwyjw nbywnyhep,
152 nGnwdttn 44,134 40,474 3,66
=
—'3'*' wyn pynty’ wnnwwnt
1221 3 16,17 1251 3,66
3 wjgh
122 % fuwnnnh wygh 27,964 | 27,964
1:2:3 g, wjL
1,3 ; funtinhwnp 19,900 3,590 16,310
1,4 = wnnun
1,5 wy| hnnuinbuptin
COnwukbp
1 (1.1+1.2+1.3+1.4+1.5) 641,714 537,897 103,817
21 pGwlbLh YunniguwwiniwG 197225 | 196,136 | 0,8097 | 0,27936
2.1.1 E wjn pyYntd nbGwdtipd hnntip 197,225 196,136 0,643 0,44606
;: wjgbgnpswyuwb
212 3 (wiwnwngwyha)
—_
2,2 é pGnhwanip ognwugnnéiwh
a
2,3 2 wj| hnnkip
2 LOnwikhp (2.1+2.2+2.3) 197,225 196,136 0,8097 0,27936
3 3. Uprynibwp., pGnknpogun., L wy) wpw.
GowlGwynipjwl
i EGEpgtnhlwih, tpwluw., Yuwh,
ynintGwy GGpwlwnnigywéphtiph
5 5. 3wwnnty wwhwwaynn nmwpwépltiph
6 6. Jwwnty GuwGwynipywl
74 whwnwn
752 pthnin
b
7.3 ":;? Juwptwhnn
7.4 5 funinhwpp
75 g wnnun
=
7,6 N wy| hnnkip
7 Chnwikbp
(3.1+3.2+3.3+3.4+3.5+3.6)
8 8. nw)hb
9 9. Mwhntuinwjhb
LULAUUBLL NANGUNA INEN (1+2+3+4+5+6+7+9) 838,939 34,083 0,8097 104,096
4 Il
oS5 vwunp fo
“\‘m“ S L
i 4 - >
2 " » Y (ap
Swiwjbph ntYw 2 _ Ywyhp Swdpwnénidjwl
¥

-

Jﬂ f ] e &
, egwg <
Jwwwnpnn’ U.(uu >

‘91
@ o U Nn a vﬁ
Juinnpwagnnintl/ Jnany




